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Practice Test

Solve each inequality. Then graph itona
number line. {X|x< 5}

1L x=9<—4 0125485678 %1%0

2 6pbp-3 m
4=85=2=1 81183458
& MULTIPLE CHOICE Drew currently has 31 comic
books in his collection. His friend Connor has
58 comic books. How many more comic books
does Drew need to add to his collection in order
te have a larger collection than Connor? c

A no more than 21
B 7
C atleast 28
D more than 30
Solve each inequality. Graph the solution on a
nomberline.  4-10. 888 Ch. 5 Answar Appendix
a Li>3 {a]h>15) Tororaphs.
B 7w = —42 {w|w= —6}
& —f¢=24 {f|t= 36}
7. =9m < =36 {m|m >4}
B 3c-7<11 {e|e< b}
8 §+32-9 {glg= -8}
10 —2x—4) >5x—13 {x|x< 3}
11. 200 The Bth grade science class is going to

the zoo. The class can spend up to $300 on
admission,

& Write an inoquality for this situation.
85+ 107 < 300
b Tf theve are 32 students in the and 1 adule
‘will attend for every B students, can the entire
dlass go to the zoo? yes

Solve each compound inequality. Then graph the
solution set. 12-13. Sse margin

1 y—-8<—-3ory+5>19
n=-ll=sh-5=13

M Az-2>-GandTz4+4<-17 B

Define a variable, write an inequality, and solve
the p Check your

15. The difference of a number and 4 & no more
than 8. 15-16. 8ee Ch. 5 Answer Appendix.

18. Nine times a number decreased by four is at least
twenty-three.

17. MULTIPLE CHOICE Write a compound inequality

“Sedeg=d=1 0 1 I 5 4§

F -2=x<3 Hx<-2orx=3

Gx=—2orx>3 J 2<x=3
Solve each inequality. Then graph the solation set.
® |[p-5|<3 " [F+7 =2

B |-am+dlsis o2 273 s
18-21. See Ch. 5 Answer Appendix.
22 RETAIL A sporting goods store is offering a §15
coupon om any pair of shoes.
a. The most and least expensive pairs of shoes
are §149.95 and $24.95. What is the range of

costs for customers with 57
3_05 =p=134.05
b When buying a pair of $109.95 shoes, you can

use a or a 15% discount. Which option
is best? :E% discount

Graph each inequality.

B y<dr—1 M 2+ 12

23-24. See Ch. 5 Answer Appendix.

28 Graph y > —2r + 5. Then determine which of the
ordered pairs in (=2, 0), (~1,5), (2. 3), (7, 3)) are
in the sohution set. Sea Ch. § Answer ndix.

26. Bx + 4y = 06; sus Ch. 5 Answer Appendix for graph.

28. PRESCHOOL Mrs. Jones is buying new books and

for her classroom. Fach book
costs $6, and each puzzle costs $4. Write and
graph an inequality to determine how many
books and puzzles she can buy for 596.
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15, Let x = the number; {x| x— 4 < 8, x= 12}.
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16. Let x = the number; {x| 9x — 4 = 23; x = 3}
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